
 

 

 

 

 

 

myF :- tpfpjk; 

ghlNtisfs; :- 6 

 

ghlg;Gj;jfj;jpy;  125 Mk; gf;fj;jpYs;s tpfpjk; vd;w ghlj;ij thrpf;f. mjD}lhf>  

1) tpfpjk; vd;why; vd;d vd tpsf;Ff.  

2) tpfpjk; xd;iw vOJk; NghJ ftdpf;f Ntz;bag ,ay;Gfis vOJf. 

 

 

 

 

fPOs;s ml;ltiziag; G+uzg;gL;j;Jf.  

tpfpjk; tpfpjj;jpd; 
cWg;Gfs; thrpf;Fk; Kiw 

2 : 3 2 > 3 ,uz;bw;F %d;W 

2 : 5   

7 : 2   

5 : 9   

3 : 7   

1 : 6   

11 : 3   

 

ghlg;Gj;jfj;jpy; 129 Mk; gf;fj;jpYs;s gapw;rp 21.1 iag; G+uzg;gLj;Jf. 

 

tpfpjk; xd;Wf;F rktYthd tpfpjq;fisf; fhzy;. 

 

 

cjh :-   (1) 2 : 3 = 2X2 : 3X2 = 2 : 6 

khfhzf; fy;tpj; jpizf;fsk;> rgufKt – thuhe;jg; ghlrhiy 

ghlk;   : fzpjk; 

juk; : 6 

jahupj;jy; : jpU ]puh[; - tsthsu; (fzpjk;)>     
                    khtdy;iy tyak; 

thuk; : 4 

Xd;Wf;F MW vd;w tpfpjk; 1:6 vd;w FwpaPlhff; fhl;lg;gLtNjhL> 1 > 6 vd;gd 
KiwNa KjyhtJ cWg;G > ,uz;lhtJ cWg;G MFk;. 

jug;gl;Ls;s tpfpjk; xd;wpd; cWg;Gf;fis G+r;rpaj;jpYk; $ba xNu vz;zhy; 
ngUf;Ftjhy; my;yJ tFg;gjhy; mt;tpfpj;jpw;Fr; rktY tpfpjk; xd;W fpilf;Fk;. 



 (2) 18 : 9 = 18 ÷ 3 : 9 ÷ 3 = 6 : 3 

fPNo jug;gl;Ls;s gFjp A ,Ys;s xt;nthU tpfpjj;jpw;Fk; rktYthd tpfpjj;ij 

gFjp B ,ypUe;J njupT nra;J ,izf;f. 

2) 

 

 

 

 

 

tpfpjk; xd;iw vspa tbtpy; vOJjy;. 

 

 

 

cjh:-    30 : 20 = 30  ÷  2 : 20  ÷  2 

  = 15  : 10 

  = 15 ÷ 5 : 10 ÷ 5 

  = 3 : 2 

 

ghlg;Gj;jfj;jpy; 134 Mk; gf;fj;jpYs;s gapw;rp 21.2 iag; G+uzg;gLj;Jf. 

 

tPjk; 

ghlg;Gj;jfj;jpy; 135 Mk; gf;fj;jpYs;s tPjk; vd;w gFjpia ed;whf tpsq;fpf; 
nfhs;f. mjD}lhf>  

1) tPjk; vd;why; vd;d? vdr; rupahf vOJf. 

2) tpfpjk; > tPjk; vd;gtw;Wf;fpilapy; ePu; fhZk; gz;Gfis vOJf.  

3) tPjk; gad;gLk; re;ju;g;gq;fSf;F ehd;F cjhuzq;fs; jUf. 

 

ghlg;Gj;jfj;jpy; 137 Mk; gf;fj;jpYs;s gapw;rp 21.3 iag; G+uzg;gLj;Jf. 

 

A 

3 : 7 

2 : 5 

1 : 2 

3 : 4 

7 : 2 

B  

4 : 10 

9 : 21 

12 : 16 

5 : 10 

21 : 6 

A 

9 : 3 

18 :12 

14 :10 

36 : 18 

16 : 2 

B  

3 : 2 

2 : 1 

3 : 1 

8 : 1 

7 : 5 

1

ahJnkhU tpfpjj;jpw;F rktY tpfpjq;fSs; kpfr; rpwpa KO vz;fis cWg;Gf;fshff; 
nfhz;l tpfpjk; mt;tpfpjj;jpd; vspa tpfpjk; MFk;.  

30 : 20 = 30 ÷ 10 : 20 ÷ 10 

 = 3 : 2 


